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Technical Guide

Center misalignment Center height adjusting sleeve Internal coolant
When CNC lathe turret center is Internal coolant is
E must be < 0.02mm. misaligned =z 0.15mm, please use recommended.

center height adjusting sleeve.
(See page 1-35)

Possible to run on
low r.p.m machine

No reset and regrind

Tool length maintain while
changing the insert or cutting edge.

e,

S=500r.p.

CT+0.025

Nine9 Cutting Tool & Tool Holders



Cutting Data

»F31~33.15 (#2~#4)

V. IC08 IC12
Workpiece material (mlm(i:n ) di
: @1~1.25 @1.6~3.15 @2 (#2) @2.5(#3) | @3.15 #4)
Carbon steel ~_ _sbm. 2000~ 10000 1600 ~8000 1600 ~8000 1400 ~7000 1200 ~ 6000 S
C<0.3% oo, 0.02~0.03~0.05 0.03~0.05~0.06 0.04~0.06~0.08 0.06~0.08~0.10 0.08~0.10~0.12
Carbon steel ~__ _ibm. 2000~9000 1600~ 7200 1600 ~7200 1400 ~6300 1200 ~ 5400 B
C>0.3% oo, 0.02~0.03~0.05 0.03~0.04~0.05 0.03-0.04~0.05 0.06~0.08~0.10 0.08~0.10~0.12
s - - - - -
Low alloy steel _ . _rim 2000~8000 1600 ~6400 1600~ 6400 1400 ~5600 1200 ~ 4800 B
C<0.3% oF o, 0.01~0.02~0.04 0.02~0.03-0.05 0.02~0.03~0.05 0.04~0.06~0.08 0.06~0.08~0.10
High alloy steel _ _ion 1000 ~6000 800 ~ 4800 800 ~ 4800 700 ~ 4200 600 ~ 3600 i
C>0.3% b, 0.01~0.02 0.01~0.02~0.04 0.01-0.02-0.04 0.02~0.04~0.06 0.04~0.06~0.08
. S, 1000~3000 800 ~ 2400 800 ~ 2400 700 ~ 2100 600 ~ 1800

Stainless steel <20 Y )

e, 0.003~0.01  0.005~002  0.01~0.02 0.01~0.02~0.03 0.02~0.03~0.05 5 5 par

.S, 2000~9000  1600~7200  1600~7200  1400~6300 1200 ~ 5400
Casting iron <70 Air

ok 0.01~0.02-0.04 0.02~0.04~0.06 0.02~0.04~0.06 0.04~0.06~0.08 0.06~0.08~0.10
Al, and .S, 6000~20000 4800 ~16000 4800~ 16000 4200~ 14000 3600 ~ 12000
non-ferrous < 200 o
metal of o, 0.01-0.02~0.03 0.01~0.02~0.04 0.01~0.02~0.04 0.02~0.03~0.05 0.02~0.04~0.06

> 34~F10 (#5~#10)

e Best o Possible

V. IC16 [09210] IC25
Workpiece material m/m(i:n di
: @4 (#5) #6) | 6.3 #7) @8 (#8) @10 (#10)

Carbon steel .S, 1000~5000 900~ 4500 800 ~ 4000 700 ~ 3500 600 ~ 3000
C<0.3% <80 e

3% of, 0.08-0.12~0.14 0.10~0.12~0.16 0.10~0.14~0.16 0.12~0.15~0.18 0.14~0.18~0.20
Carbonsteel  __ . _ron 1000 ~ 4500 900 ~ 4050 800 ~ 3600 700 ~ 3150 600 ~ 2700 .
C>0.3% ofe, 0.08-0.12-0.14 0.10~0.12~0.16 0.10~0.14~0.16 0.12~0.15~0.18 0.14~0.18~0.20

s _ _ _ _ _
Low alloy steel _ . _ron 1000 ~ 4000 900 ~ 3600 800 ~ 3200 700 ~ 2800 600 ~ 2400 .
C<0.3% ofe, 0.06-0.08-0.10 0.08~0.10~0.12 0.08~0.12~0.14 0.10~0.14~0.16 0.12~0.16~0.20
High alloy steel _ _rn 500 ~ 3000 450 ~ 2700 400 ~ 2400 350 ~ 2100 300 ~ 1800 .
C>0.3% f . 0.04~0.06-0.08 0.06~0.08~0.10 0.08~0.10~0.12 0.10~0.14~0.16 0.10~0.14~0.16
S, 500~ 1500 450 ~ 1350 400 ~ 1200 350 ~ 1050 300 ~ 900
Stainless Steel <25 ® ¢)
f . 0.02~0.04~0.06 0.02~0.04~0.06 0.04~0.06~0.08 0.04~0.06~0.08 0.05~0.07~0.10 =5 bar

- .S, 1000-~4500 900~ 4050 800 ~ 3600 700 ~ 3150 600 ~ 2700 _

Casting iron <70 Air
o 0.06~0.08~0.10 0.08~0.10~0.12 0.08~0.12~0.14 0.10~0.14~0.16 0.12~0.16~0.18

Al, and S, 3000~10000 2700~9000  2400~8000  2100~7000 1800 ~ 6000
non-ferrous <200 @)
e of, 0.02~0.04~0.06 0.04~0.06~0.08 0.04~0.06~0.08 0.06~0.08~0.10 0.06~0.08~0.10

. . e Best o Possible
» Attention of Form A+B insert:

Reduce 30% of Spindle speed and keep same feed rate (mm/rev.) while depth L2 is reached.
P Using your “d1” value and cutting speed Vc from the data sheet, calculate spindle speed
“S”(r.p.m).
D “ F" feed rate per minute F=Sxf= IPRxr.p.m

Metric Inch
d1l = diameter -mm d1 = diameter-inch
_ V(;Ef(ldoloo S= Spindle Speed -r.p.m. s= (3.82xSFM) S = Spindle Speed-r.p.m.
Ve = Cutting Speed -m/min. - IPerdplm SFM = parface Speed i jmin.
F=Sxf f= mmirev. e f = IPR = inch/rev.
F = mm/min. F = inch/min.
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